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y = -2 .7956x  + 643 .17
R 2 = 0 .0936
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y = -2.1468x + 627.37
R2 = 0.1626
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y = 0.0321x + 4.0123
R2 = 0.0254

y = 0.0143x + 1.029
R2 = 0.2727

y = 0.0076x + 0.4341
R2 = 0.0055
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y = -0.0789x + 25.654
R2 = 0.0835

y = 0.0565x + 17.661
R2 = 0.0789

y = 0.0218x + 17.986
R2 = 0.0172

0

5

10

15

20

25

30

35

40

1951 1956 1961 1966 1971 1976 1981 1986 1991 1996
ANY

D
IE

S

a b Traça

����$� &��
�





)0 �







��
�




�0 1







��



:




10 �2





��

���#������
GLDV���� DxRV 6LJ�

�






+'�4





29
�





/'2/





./
:




0*'4.





.2



/

180(52 '( ',$6 $18$/(6 '( ',)(5(17(6 &$7(*25,$6 '(

35(&,3,7$&,21 ',$5,$

y = -0.0003x + 0.4299
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y = 0.0704x + 11.756
R2 = 0.6245
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y = 0.0604x + 20.947
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